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NO Eth we | maee | weg | PRES % iy 28 BEH GaE | BRR ER % | wokoise| wokee
1| RBBE=RIVY | (BEBR) | BER AJIET FERE R — SR 47 EERREREEVY— Ge H23.12.14 | H23.12.14 <60 10 14
2 | REBE=RILY | (BBR) | #BR BIET | SESRES — 7 On 47 BERBEREG LS Ge H23.12.14 | H23.12.14 | < 7.2 <93 11
3 | BRRE=4ULY | BER) | BER AJIET FERE R — SR 45 BRERREREEVY— Ge H23.12.14 | H23.12.14 <74 <11 10
4 | REBE=SILY | (BBR) | #BR BINET | SESRES — 7 On 47 BERBERE LYY Ge H23.12.14 | H23.12.14 | <79 <1 <85
5 | REBE=4ULY | BBR) | EBR BIET | SESRES — - On 47 BERBERE LV Ge H23.12.14 | H23.12.14 | <80 <9.9 <85
6 | BRRE=4ULY | BER) | BER B FERE R — SR 4K ERERREREVY— Ge H23.12.14 | H23.12.14 <65 <11 <65
1 | REABE=4ULY | BEBR) | =ER B FERE R — SR 45 ERERREREEVY— Ge H23.12.14 | H23.12.14 <67 <92 <82
8 | BRRE=4ULY | BER) | BER B FERE R — SR 45 RERRERE U Y— Ge H23.12.14 | H23.12.14 <58 <86 <80
9 | BRRE=4ULY | BER) | BER BT FERE R — SR 45 RERREREEVY— Ge H23.12.14 | H23.12.14 <64 <11 <17
10 | REBE=4JLY | BEBR) | =ER BT FERE R — SR 45 RERREREEVY— Ge H23.12.14 | H23.12.14 <13 <82 <95
1" | REBE=4JLY | BEBR) | #BR | &FRTHE | FRES — SR 45 ERERREREEVY— Ge H23.12.14 | H23.12.14 <62 <85 <718
12 | REBE=4ILY | BEBR) | #BR | &FRTHE | FRES — SR 45 RERREREEVY— Ge H23.12.14 | H23.12.14 <58 <86 <88
13 | REBE=4JYLY | BBR) | &#ER ALl FERE R — SR 45 RERREREEVY— Ge H23.12.14 | H23.12.14 <58 <88 <15
14 | REBFE=4JILY | BEBR) | =ER Al FERE R — SR 45 RERREREVY— Ge H23.12.14 | H23.12.14 <15 <97 10
15 | RABFE=2JILY | BEBR) | &=ER EANlES IR — SR 4K RERREREVY— Ge H23.12.14 | H23.12.14 <68 <89 <74
16 | REBFE=2JLY | BEBR) | =ER KW ET FERE R — SR 45 RERREREEVY— Ge H23.12.14 | H23.12.14 <58 <80 <18
17 | REBFE=2JLY | BEBR) | &#ER K WRET FERE R — SR 45 BRERREREEVY— Ge H23.12.14 | H23.12.14 <66 <98 <84
18 | RABE=4JYLY | BEBR) | =ER K WRET FERE R — SR 45 RERREREVY— Ge H23.12.14 | H23.12.14 <70 <93 <89
19 | REBFE=4JLY | BEBR) | &=ER KW ET FERE R — SR 45 EERREREEVY— Ge H23.12.14 | H23.12.14 <57 <12 <15
20 | BRRE=SULY | BER) | BER K WRET FERE R — SR 45 RERREREVY— Ge H23.12.14 | H23.12.14 <66 <92 <80
21 | BRRE=SYLY | BER) | BER K WRET FERE R — SR 45 EERREREEVY— Ge H23.12.14 | H23.12.14 <62 10 <88
22 | BRRE=SULY | BRER) | BER KW ET FERE R — SR 45 EERREREVY— Ge H23.12.14 | H23.12.14 <18 <92 <91
23 | BRRE=YULY | BRER) | BER K WRET FERE R — SR 45 EERREREEVY— Ge H23.12.14 | H23.12.14 <52 <85 <67
24 | BRRE=SILY | BER) | BER BT FERE R — SR 45 EERREREEVY— Ge H23.12.14 | H23.12.14 <66 <82 12
25 | BRRE=SYLY | BER) | BER BT FERIE — SR 45 EERREREEVY— Ge H23.12.14 | H23.12.14 <57 17 22
26 | BRERE=2ULY | BER) | BER BiAlH FERE R — SR 45 EERREREEVY— Ge H23.12.14 | H23.12.14 <82 16 18
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: EFES a5 o BEE BRERE HR _ o S )
E7 EilS) HERTFIR GLIED) P :.Z &% 7]7—_23,) 1G] REHRE (GoNal) | (BEAR) | B3R I9F%-131 | Y9 A-134 | £994-137

BRERHE=4IVT | (BRER) | GER BmHEET | ERER — TR b g EEREBERE LV S— Ge H23.12.13 | H23.12.14 <14 60 88

RAaBE=4)Y | BER) | EER mEEm | ERER — Frxs 1) EEREEREEVS— Ge H23.12.12 | H23.12.14 <9.1 <13 <12

RAaBE=4) Y | BER) | EER mEEm | ERER — Frxs FF EEREEREEVS— Ge H23.12.13 | H23.12.14 <9.1 <14 <13

BRERHE=4IVT | (BER) | GEBR fRiEH JETRE M — R AF3 (HEE%) EEREELREAEVS— Ge H23.12.12 | H23.12.14 <68 <16 <718

BRERHE=4IVT | (BRER) | &#ER fREH JETRE & — R AF3 (HEE%) EEREELREAEVS— Ge H23.12.12 | H23.12.14 <60 <17 <6.3

BRRHE=4IVT | (BER) | &GEBR RiET JETRE M — R AF3 (HEE%) EEREEREAEVS— Ge H23.12.12 | H23.12.14 <14 <68 <88

BRERHE=4IVT | (BER) | &GEBR fREMH JETRE & — TR AF3 (HEE%) EEREREREAEVS— Ge H23.12.13 | H23.12.14 <55 <87 <81

BRERHE=4IVT | (BRER) | &GEBR fRiET JETRE M — R AF3 (HEE%) EEREELREEVS— Ge H23.12.12 | H23.12.14 <719 <84 <88

BREHE=4VT | (RER) | &EE fRiET JETRE M — B 2avXY (%) EEREBERE LV S— Ge H23.12.12 | H23.12.14 <14 <85 <80

RAaBE=4JLY | BER) | EER fRET ETRE — Frxs 2avXY (%) REREEHREEVS— Ge H23.12.12 | H23.12.14 <1 <13 <1

RAaBE=4)LY | BER) | EER ZIET B — Frxs INgHA EEREEREEVS— Ge H23.12.9 | H23.12.14 <68 <86 <80

RAaBE=4) Y | BER) | EER SERET JETRE — (a2 HrAE EEREBEREEVS— Ge H23.12.14 | H23.12.14 <86 <13 <12

RAaBE=4J Y | BER) | EER REF B — (a2 i) EEREBEREEVS— Ge H23.12.14 | H23.12.14 <12 <94 <94

RERE=SILT | EBR) | E#BR B | EREH — 5] T RINTGH R (HEE%) EEREEREELS— Ge H23.12.13 | H23.12.14 <16 <80 <11

RAaBE=4)Y | BER) | EER BREZER | ERER — Frxs IX/bY EEREEREEVS— Ge H23.12.13 | H23.12.14 <13 <18 <16

BREHE=4VT | GBBR) | BER | &FRTE | ERER — [aE2] HrAE EEREBEREEVS— Ge H23.12.13 | H23.12.14 <71 <1 <16

BEHE=4IVT | (BRER) | &GEBR EANES) AR — BHRE HhME EEREBERE LV S— Ge H23.12.13 | H23.12.14 <88 <12 <82

RAaBE=4J Y | BER) | EER EANES) ETRE — FrxsE HYTALE EEREEREEVS— Ge H23.12.13 | H23.12.14 <64 <92 <83

RAaBE=4J Y | BER) | EER HEET JETRE M — FrxsE Hr4E EEREBEREEVS— Ge H23.12.9 | H23.12.14 <10 <98 <14

RAaBE=4J Y | BER) | EER =BT JETRE — [aE2] Hr4E EEREBEREEVS— Ge H23.12.9 | H23.12.14 <95 <1 <12

BEHE=4IVT | BBR) | BER | &EXEA | ERER — FrxsE Hr4E EEREBEREEVS— Ge H23.12.8 | H23.12.14 <14 <1 <18

RAaBE=4JY | BER) | EER X WRET JETRE — FrxsE IX/bY EEREEREEVS— Ge H23.12.13 | H23.12.14 <93 <15 <99

RAaBE=4)Y | BER) | EER X WRET ETRE — HRE FxoeAy EEREBERE LV S— Ge H23.12.13 | H23.12.14 <14 <15 <12

RaBE=4JLY | BER) | EER X WRET B — Frxs TEA X EEREBEREEVS— Ge H23.12.13 | H23.12.14 <10 <98 <93

RERE=SIVT | (EER) EER AJIET FRE R — FRE A F3 (§EE%) EEREEREELS— Ge H23.12.14 | H23.12.14 <74 <10 <15

5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 5
RERE=SILT | EBR) | EBR REH FEiREmR — BHxRE P EERERRE L S— Ge H23.12.14 | H23.12.14 <12 15 13
5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 5
5 B
5 5
5 B
5 5

BEHE=4IVT | (RER) | &#EE THA JETRE — HRE AV=NIALE EEREBERE LV S— Ge H23.12.13 | H23.12.14 <66 <817 <68
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Eth we | maee | weg | PRES % iy 28 BB GaE | 2R ER | | wokoise| wokee

REBE=4JLY | BEBR) | #ER TEH FERER — xR b RERREREEVY— Ge H23.12.13 | H23.12.14 <11 <14 <13
REBE=4JLY | BEBR) | #ER =FHAT FiREm — R A F3 (§EE%) BERREREEVA— Ge H23.12.13 | H23.12.14 <15 <82 <84
REBE=4JLY | BEBR) | #ER NIRF IR — xR 25/ A(HEE%) ERERREREVY— Ge H23.12.13 | H23.12.14 <92 26 25

REBE=4JLY | BEBR) | #ER FHhET FERE R — 5] Tx/b EERERREELS— Ge H23.12.7 | H23.12.14 <13 <17 <13
REBE=4JLY | BEBR) | #ER A FERER — HRE DV RERREREEVY— Ge H23.12.15 | H23.12.15 <83 <98 <11
REBE=4JLY | BEBR) | #ER A FERE R — HRE v ERERREREEVY— Ge H23.12.13 | H23.12.15 <61 <80 <16
RERE=SILT | EBR) | £#BR A FEiREm — R 473 (§EE%) BERREREEVA— Ge H23.12.15 | H23.12.15 <12 <97 <79
REBE=4JLY | BEBR) | #ER FET FERER — HRE =3 (KR RERREREEVY— Ge H23.12.14 | H23.12.15 <90 <13 <92
REBE=4JLY | BEBR) | #ER FET FRER — 5] =3 (KER) ERERREREEVY— Ge H23.12.14 | H23.12.15 <80 <14 <12
REBE=4JLY | BEBR) | #ER FES FERER — 5] =3 (KEHR) RERREREVY— Ge H23.12.14 | H23.12.15 <80 <11 <13
REBE=4JLY | BEBR) | #ER FET FERER — 5] =3 (KEHR) RERREREEVY— Ge H23.12.14 | H23.12.15 <95 <12 <11
REBE=4JLY | BEBR) | =ER FER FERE R — HxE 2avXY (%) BERREREVY— Ge H23.12.14 | H23.12.15 <82 <90 <82
REBE=4JLY | BEBR) | =ER FET FERE R — HRE LavXY (%) BERREREVY— Ge H23.12.14 | H23.12.15 <17 <11 <15
REBE=4JLY | BEBR) | #ER RET FERIE & — xR b RERREREEVY— Ge H23.12.12 | H23.12.15 <16 <20 22

REBE=4JLY | BEBR) | #ER rEM FERER — xR AF3 (HEE%) RERREREEVY— Ge H23.12.15 | H23.12.15 <65 <99 <94
RERE=SILT | EBR) | E#BR rEM FERE R — 5] Lray EEREEREELS— Ge H23.12.13 | H23.12.15 <57 <88 <74




